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No partial credit.
No calculators allowed.
Time Limit: 45 minutes.

1. What is tan(27/3)?
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2. If t? = In(1 + z) — In(1 — ), what is z in terms of ¢?
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3. What are all solutions of the equation: sin®z + 2sinx = 5/47

(a) w/3+mn (b) 7/6+42mn,57/642mn (¢) w/44+2mn,—m/4+21n (d) O4mn,w/24+7n
(e) —b5mw/6+ 27mn

4. If f(z) = V422 + 8,z > 0, what is f~1(x)?
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5. sin(2cos™!z) is equivalent to
(a) 2v1—a2  (b) 2 (c) vi-a (d) 7”’2“’”2 (e) 2zvV1—2?

6. If f(z) = Ltsinz
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(a) sin 1 (3”;4_}) (b) sin 1 (;f—;) (c) 725?111“,1 x’le (d) sin ! (2;”“1)
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. What is the domain of f(z) =2 — In(z? —9)?

(a) {z:-3<zx<3} (b) {x:-3<z<3} (¢) {z:z<—-3orz>3}
(d) {z:z<-3o0raxz>3} (e) {z:z>0}

2_2rx—24
Which of the following is equivalent to ;2_?1;_’_30?
z—06 z—06 rz+4 r—12 z—2
b d
(2) r—5 () rx+4 (c) r—95 (d) z—11 () x—11

A water tank is initially % full. After adding 5 gallons of water, it is % full. What is the capacity of the
tank in gallons?
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